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B1=(1-byp) Yig (YIY191/3 By = (b - by Yig (vrv,9 13
ay = ayo [(x-0,17D/y] 4 ay = a0 [(x—0,17D/y] 4
by = by [z 079 44 by=byq [(Mp1x+bp1)/y]
ap0=1, byy=-0,4 (D\T ay=1, byp=-0,4 9¥79
mr=1000pp=0171 f A mp=-0,157,0p=0385  ©85do— & 2
i } t t > B | t
n = D50 -40 40 n=D50 -40

olours (0) YW=100

Ehdfnatic value, D50

5 34
Osjwalgd
ma )
@ a (.

A*110 B*110

Ostwaldcolours (o) Yy=100

max (m) chromatic value, D50 T-40

chroma (A*510 B*210)

BE381-3A_1

BE381-4A_1

Xu=96,72Y,~99.99.2,78141 B,

Xy=0,3477y,=0,3595

A= (@3~ ag) Yig (VY193
B3 = (b3~ bs ) Y15 (/Y1913

ag = ay[(x-0,17D/y]
b3=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4

mpy=-1,344,bp,=0,781
n = D50 ]

max (m)T
chroma (;

T40
979 44
. o8| , ' N
-40 34 40
5
Ogivalddolours (o) Yyy=100

Ehéfatic value, D50
A*310 B*310

X=96,72,Yy=99,99,7,=81,41

Xw=0,3477y,,=0,3595

Ag= (g ~3y) Yag (VY1913
By = (bg — by ) Yig (Y/Y19 113

ay =g [(x-0,172/y]
=50 [(Mp1x+bp1)/Y]
a90= 1, byg= ~0,4

mpy=-0,157,bp1=0,385
n = D50 _40

8

B,
+40
979 44
/O65100—¢ ' A;A
A }‘ 40

Ostwalddolours (o) Yy=100
max (m)Fhdfnatic value, D50
chroma (A*4 10 B*410)

BE381-5A_1

BE381-6A_1

Xu=96,72Y,~99.99.2,78141 B,

Xy=0,3477y,=0,3595

As = (@ = as,y) Yig (VY1913
Bs = (b5 ~ bs 1) Y15 (Y/Y191/3

a5 = ay[(x-0,171/y]
bs=byo [(Mp1x+bp1)/y]
ay=1, byp=-0,4

mpy=-1,344,bp,=0,781
n = D50 ]

+40
979 44
,_oFh| , : RS
-40 34 40
5
Ogivalddolours (o) Yyy=100
max (m)Ehdhatic value, D50
chroma (A*s 10, B*s10)

X=96,72,Y,,=99,99,7,=81,41

X=0,3477y,,=0,3595

A6 = (@ ~ ag) Yig (Y1913
Bg = (b — bg,) Y (Y/Y19)1/3

g = a0 [X/y]
bg=bs0 [(Mp1x+bp1)/y]
ap0= 1, byg= ~0,4

Bs

mp;=-1,344,b,=0,781
n = D50 _40

Ostwaldcolours (o) Yy=100

max (m) chromatic value, D50 +-80

chroma (A*g 10, B*5.10)

BE381-7A_1

BE381-8A 1




Ostwaldcolours (o) Y\y=100
o525 max (m) chromatic value, P40

X,=101,75,Y,,=100,00,2,,=64,44 BD

0,8 T natic v; X=0,3822y,,=0,3756 Lao
3 Mig the chromaticity diagram (x;0, Y10) Ag = (8o~ ag) Yag (Y/Y191/3
Bo = (bo = bo,n) Y1 (VY1913
29 =ago [x/y] +
by = bao [2/4]
9B2
ay=1, by=-04 45
NN b N, V.
n = P40 —40 ' 40
625
%700
1
W[ CIE 1964 X10 Ostwalddqd|oufs (0) Y\\=100
0,0 + ZOg65es max (M)l atic value, P40
0,0 0,2 0,4 0,6 0,8 1,0 chroma (A% 10 B*0.10)
BE381-1A_1 BE381-2A 1

Xy=101,75)Y,,=100,002,~64,44 B,

X,=101,75,Y,,=100,00,2,,=64,44 B2
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A3=(a3~ap) Y1g (Y/Ym)i;?’ As=(@s=a4n) Yig (Y/Y13)1;3
B3 = (b3 — by ) Y1g (Y/Y191/3 By = (bs — bay) Yag (Y/V191/3
ag = ayq [(x=0,171)y] 1 ay = ay [(x=0,17D/y] 1
b3=byo [(Mp1x+bp1)/y] 5 45 bs=byo [(Mp1x-+bp1)/y]
ay0= 1, byo=-0,4 P A 80=1, by=-0,4 082 45 A
mp1=-1,344,bp,=0,781 3 mp;=—0,157,bp,=0,385 . o800 4
i t t b
n = P40 40 n = P40 -40 4 y 40
1
7+
Ogtwalddolours (o) Y\y=100 Ostwalddolours (o) Yy=100
max (m)Ehdfatic value, P40 max (m)Fhdatic value, P40
chroma (A*310, B*310) chroma (A*410, B*4.10)
BE381-5A_1 BE381-6A_1
Xy=101,75,,~100,007,~64,44 B, X=101,75Y,,=100,00Z,~64,44 B,
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